AvnddepeHuman pyHKUUM

1087 y = —In X223
2a X+a
dy_ix+a(x+a)dx—(x—a)dx_i 2adx dx
2a x—a (x+a)2 2ax’—-a? x*-a°

1095 y = Inyu? +Vv°
1100 sin 29°

y =sinx,

dy = cos xdx;
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A =sin29°—-sin30° = —0.01519

dy=-Y2" - 0.01512;
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1159 y = —; y®

1162 y=; y®
X

1167 y =sinxsin2xsin3x  y"
1 , 1, . , .
y= E(cosx—cos?;x)sm 3x = Z(sm 2X+sin4x—sin6x),

Yy = %(—210 sin 2x — 4" sin 4x + 6" sin 6x).
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1169 y=e"cosx y

y'=e*cosx—e"sinx, y"=e*cosx—e*sin x—e”*sinx —e*cosx = —-2e*sin x,
y" =—2e*sin x—2e* cos x, y" =—4e*cos x.

1177 y =¢" d'y

dy =e"du, d’y =e"du® +e"d°u,

d®y =e"du® +3e'dud®u +e"d*u,

d*y =e"du® + 6e"du?d?u + 3¢" (dzu)2 +4e'dud®u +e'd‘u

Haigure y"

1193 y =sin® X

1195 y =sin®x

1204 y = (X" +2x+2)e”

y" =(-1)" (X*+2x+ 2)e’X +(=1)""Ct(2x+2)e™ +(-1)" " Cl2e =

=(-1)"e™ ((x2 +2x+2)—n(2x+2)+n(n—1)) =(-1)"e” (x2 ~2(n=1)x+(n? —3n+2))

1206 y =€’ cos X

. T
y' =€ cos X —e*sin x = /2" cos(x+ZJ

y" =~[2¢* cos(x+%j—x/§ex sin(x+%) =2¢” cos(x+%)

y" = 2m2ex Cos(x+%nj



